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COMMERCE 

Paper – II 
 

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All 

questions are compulsory. 

 

1. Assertion (A) : Industrialization is the sine-qua-non of economic progress. 

 Reasoning (R) : Government is committed to rapid and balanced industrialization of the 

country with a view to benefitting common man. 

 (1) Both (A) and (R) are true and (R) is correct explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) (A) is false but (R) is true. 

 

2. Match the items in Column – I to the items in Column – II : 

Column – I       Column – II 

a. Fiscal deficit i. Market Securities 

b. SEBI ii. Government expenditure 

c. RBI iii. Economic growth 

d. National Income iv. Monetary policy 

 Codes : 

  a b c d 

 (1) ii iv iii i  

 (2) iii i iv ii 

 (3) i ii iii iv 

 (4) i iv ii iii 

 

3. Withdrawl of government from a sector partially or fully is known as  

 (1) Modernization (2) Liberalization 

 (3) Privatization (4) Globalization 

 

4. In case the amount claimed by the consumer is � 89 lakhs, then which of the following 

will handle the case ? 

 (1) District consumer redressal forum 

 (2) State consumer dispute redressal commission 

 (3) National consumer dispute redressal commission 

 (4) Supreme Court of India 

 

5. India relaxed quantitative restrictions on imports of 1429 items in 2000 and 2001 as per 

the commitment to which of the following ? 

 (1) GATT (2) SAFTA 

 (3) NAM (4) WTO 
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����������
��	
�������–�II 

 

���
�
��: ������������	��
�����������(50)���
������ ��������������
������������ ���������� �
���(2)���� �
����������������������������
��� 
 

1. ����� �����(A) : ��� ��!��� "#����$%�� ����!������ �������������������
��� 
 ����  (R) : ��"� �"� ���
������ ����&��� �� � �
����� � ��� '������ 
��� "(����� 
�)� *���� 
��� ����"��� ���"� ������������

��� ��!��� "#���� ����)���������+�
���� 
 (1) (A) ���"�(R) *���������
��
�����"�(R), (A)�� ����
������(����
���� 
 (2) (A) ���" (R) *���������
��
�,������ ���(R), (A)�� ����
������(������
-�
���� 
 (3) (A) ��
��
������� ���(R) !������
���� 
 (4) (A) !������
������� ���(R) ��
��
���� 
 

2. � �.��
��– I � ��
�*���� ���� �.��
��– II � ��
�*����������
��������� ��/�)�: 
� �������– I       � �������– II 

a. "�/�� ��0�����1��2� i. ���/��"�������3�4��� 
b. ������ ii. ��"� �"�������� 
c. ��"5���5����5 iii. ��$%�� ������6�+ 

d. "�027��������� iv. 
����8� �������� 

 �� � : 

  a b c d 

 (1) ii iv iii i  

 (2) iii i iv ii 

 (3) i ii iii iv 

 (4) i iv ii iii 

 

3. �� ����9��	��������"� �"��� �������� �: �������������4#����<�
2����� ���� 
����
�� 
 (1) ��'������ �� "#� (2) =*�"�� "#� 
 (3) ���/��� "#� (4) �������� "#� 
 

4. ���*�!���
� ������ 89 ���(��� ��"� 
��� ��*������� ����
��,���������
������(����
�������� ���������
��
�������"�� �"����
��� "�!���? 

 (1) �/�����=��3���&����������"#��> ��"
� 
 (2) "�/���=��3���&����������*�������"#��������!�� 
 (3) "�027����=��3���&����������*�������"#��������!�� 
 (4) 3��"���� ��=??���
�������������� 
 

5. 3��"����������
������(����
��������� �����������+������ ��������"���0���@AAA����"���0���@AAB�
���BC@D�
�*����� �����������"�

��	���
�� ����������'��
���E����*��
��? 

 (1) /��5)52�52� (2) )��5)5)> 52�5) 
 (3) )��5)5)
�5 (4) F����452�5���5 
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6. According to which of the following categories of activities, a cash flow statement should 
be prepared as per AS-3 ? 

 I. Cash flow from operating activities 

 II. Cash flow from investing activities 

 III. Cash flow from financing activities 

 IV. Cash flow from production activities 

 V. Cash flow from selling activities 

 Codes : 

 (1) I, II, III (2) I, II, III, IV, V 

 (3) I, II, IV (4) II, III, IV, V 

 

7. Capital in the business is treated as a liability due to 

 (1) Dual aspect concept (2) Business entity concept 

 (3) Going concern concept (4) Accrual concept 

 

8. X, Y and Z are partners in a firm sharing profits and losses equally. They decided to share 

profits in ratio of 2 : 1 : 2 respectively. The gaining ratio of X and Z will be  

 (1) 1 : 2 (2) 2 : 1 

 (3) 1 : 1 (4) 3 : 2 

 

9. While preparing the Cash Flow Statement, suggest the correct code for the items treated as 

cash and cash equivalents : 

 I. Balance in the current account with Allahabad Bank. 

 II. Investment in 5-years government bonds maturing after one week. 

 III. Investment in the shares of a subsidiary company. 

 IV. Investment in equity mutual funds. 

 V. Fixed deposits with State Bank of India maturing after one year. 

 Codes : 

 (1) I, II, III (2) I, III, IV 

 (3) I, III (4) I, II 

 

10. The directors of X Ltd. resolved to forfeit 2000 equity shares of � 10 each. On these 

shares � 7.50 per share was paid up, but final call of � 2.50 per share was unpaid. 1,000 of 

the forfeited shares were reissued at � 7 per share. Capital Reserve Account will be 

credited by 

 (1) � 4,500 (2) � 7,500 

 (3) � 2,500 (4) � 5,000 

 
11. In case the quantity of a commodity demanded changes due to change in price of the 

commodity, it is called  

 (1) Increase or decrease in demand  

 (2) Expansion or contraction of demand 

 (3) Law of demand 

 (4) Positive change in demand 
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6. ���
������(����
��������� �����!���� ����G ��������� ��������"�)� �"��� FH�������
������"#��AS-3 �� ���'��"���"�������"��� ����
/������?���
��� ? 

 I. ���"?���������G ��������� �I�"��"��� FH�������
 
 II. ����������!����G ��������� �I�"��"��� FH�������
 
 III. ���J���������G ��������� �I�"��"��� FH�������
 
 IV. =����*�����G ��������� �I�"��"��� FH�������
 
 V. ����G �����G ��������� �I�"��"��� FH�������
 
 �� ��: 
 (1) I, II, III (2) I, II, III, IV, V 
 (3) I, II, IV (4) II, III, IV, V 
 
7. �� ���������������
�����4K/���� ���)� �*���������� ���� �� �"#��
������/������
��? 

 (1) �I��9��������'��"#�� (2) ������������� ����������� �����'��"#�� 
 (3) ?����4������������� �����'��"#�� (4) =���/������ �����'��"#�� 
 
8. X, Y )����Z )� �> 
��� 
������L��*�"�
��/�������3��
������ �����
�����: ������� ���K2����
����=�
���������3��
������ ����G 
���<�����

2 : 1 : 2 �� �����������������
������K2����� �����#��������������X )����Z � ���������������������
��!���< 
 (1) 1 : 2 (2) 2 : 1 
 (3) 1 : 1 (4) 3 : 2 
 
9. "��� FH�������
������"#��������"�� "����
������ *�"��� FH�)������� *�"��� FH�� ����"
�
������/�������������
�*����� ����)���
���4 2�

������)�: 
 I. ����
����*����� �
���?����4�(������� ��/�
���"���� 
 II. )� �������
����?����M����"��&���
�������������N���0�O�����"� �"�����.#FM���
����� ��������������!�� 
 III. ��
���� �� 
�������� ��������
����� ����!���������������!�� 
 IV. ��
�����
��4?������> #FM���
�������������!�� 
 V. �2�2����� ���.> ���#F����
���)� ���0������*����"��&���
�������������������'��/�
���"����� 
 �� ��: 
 (1) I, II, III (2) I, III, IV 
 (3) I, III (4) I, II 

 
10. X ����
�2�F��� ����?����� �������� 10 �������������������2000 ���'��"#���������� ��
"#��� "����� ������?������ ����������

���������"�� 7.50 ������������� ��3��!��������� ����!�����%��,���"������ 2.50 ������������������������
�����?������ ��3��!�������
��
-��� ����!�����%�����1,000 
"#���� ������������ ���� 7 ������������� ��*"����������$��!���
����� "��*����!���������4K/������?����
(������
���/�
���� ��!����"�����
��!���< 

 (1) � 4,500 (2) � 7,500 
 (3) � 2,500 (4) � 5,000 

 
11. ���*���������� �
�4����
������"���������� �� �"#���������� ��
��K!���!����
��	���
������"��������
������
�,������=����� 
����
�� 
 (1) 
��K!��
�����6�+������ 
��� 
 (2) 
��K!��� ���������"���������� ?���� 
 (3) 
��K!��� �������
�� 
 (4) 
��K!��
���'�����
�� ����"�������� 
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12. Match the items of the List – I with those of the List – II and indicate the correct code 
from the following : 

List – I       List – II 
a. Cardinal Utility Analysis i. J.R. Hicks and R.G.D. Allen 
b. Ordinal Utility Analysis ii. Alfred Marshall 
c. Revealed Preference Analysis iii. J.R. Hicks 
d. Logical Ordering Analysis iv. Paul A. Samuelson  

 Codes : 

  a b c d 

 (1) iii iv i ii  

 (2) ii i iv iii 

 (3) i iii ii iv 

 (4) iv ii iii i 
 
13. Producer’s equilibrium as per isoquants and isocosts can be determined on which 

combination of the following ? 
 I. Convex to the origin isoquant 
 II. Portion of isoquant within Ridgelines 
 III. Linear isoquant 
 IV. Complete complementarity isoquant 

 Codes : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 

 
14. The impact of the price variation is to change : 
 (1) the degree of elasticity of demand as well as the degree of the elasticity of supply in 

the same direction. 
 (2) the degree of the elasticity of demand as well as the degree of the elasticity of 

supply in the inverse direction. 
 (3) the degree of the elasticity of demand but not the degree of the elasticity of supply. 
 (4) the degree of the elasticity of supply but not the degree of the elasticity of demand. 

 
15. Cost plus pricing strategy is suitable for  
 I. Product Tailoring 
 II. Refusal Pricing 
 III. Monopoly Pricing 
 IV. Monopsony Pricing 
 Codes : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
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12. ���
������(������4?���– I � ��
�*���� ����4?���– II � ��
�*��������
�������� ��/�)�)������
��� ��F����!����� ��/�)�: 
�������– I �������– II 

a. ���(������?�� �=�������!������������0�#� i. /��5��"5��
&���)������"5/��5F�5�)����� 
b. �G 
����?�� �=�������!������������0�#� ii. ��>�� F�
������� 
c. ���� 2���'�
������������0�#� iii. /��5��"5��
&�� 
d. ���$� � ��G 
�?�������������0�#� iv. ���.���)5����
��4������ 

 � �� �: 
  a b c d 

 (1) iii iv i ii  

 (2) ii i iv iii 

 (3) i iii ii iv 

 (4) iv ii iii i 
 

13. ��
�������*� ���G ��� )���� ��
����!���� "�(������ �� ���'��"� ��"�=����*� � � �� ���
��� �� ��� �������/���� I�"�� ���'����"��� �� ���� /���
��� ����
��? 

 I. 
�4���� �����"�������*"���
�������*���"� 
 II. ��4����=����*� ����"�(�������� ����?����
�������*��� �3��!����"� 
 III. "�(�������
�������*���"� 
 IV. ��
��4#�����
��4"� ������
�������*���"� 
 � ��  : 

 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 

 
14. 
�4����
������"��������� �����3��������"��$������ "����
��: 
 (1) 
��K!��� ������?��� ��P��#���)��������4$���� ������?��� ��P��#���� ���)� �
���*����
����� 
 (2) 
��K!��� ������?��� ��P��#���)��������4$���� ������?��� ��P��#���� ��������"�����*����
����� 
 (3) 
��K!��� ������?��� ��P��#���� ���/����� �����4$���� ������?��� ��P��#���� �����
-��� 
 (4) ����4$���� ������?��� ��P��#���� ���/����� �
��K!��� ������?��� ��P��#���� �����
-�� 
 
15. ���!����'����
�4������"#���������� ���*�������
���=�����&���
��Q 
 I. !���
� ������4 ���=����*�
�4������� � 
 II. ������ �����
�4������� �� 
 III. )� ��'�� �"��
�4������� �� 
 IV. �G ���)� ��'�� �"��
�4������� �� 
 � �� �: 
 (1) I II III 

 (2) II III IV 

 (3) I II IV 

 (4) I III IV 
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16. A scale of measurement for a variable that considers order, distance and unique origin is 
known as  

 (1) Nominal Scale  (2) Ordinal Scale 

 (3) Interval Scale (4) Ratio Scale 

 

17. Match the items of List – I with the items of List – II and indicate the code of correct 
matching : 

List – I       List – II 

i. Geometric mean a. Averaging the ratio of two different measuring units 

ii. Mode b. Averaging percentage changes in a particular variable 

iii. Harmonic mean c. Knowing the middle value in a distribution 

iv. Median d. Knowing the most frequency occurring value in the 
data set 

 Codes : 

  a b c d 

 (1) i iii ii iv  

 (2) i iv iii ii 

 (3) iii i iv ii 

 (4) iii ii i iv 

 

18. The area under the normal curve covered within µ ± 1.96 σ limit is ? 

 (1) 0.95 (2) 0.68 

 (3) 0.50 (4) 0.99 

 

19. Statement – I : The absolute value of the difference between an unbiased estimate 
based on a randomly selected representative sample and the 

corresponding population parameter is known as sampling error. 

 Statement – II : Coefficient of correlation is independent of the change of origin and 
scale of measurement. 

 Codes :  

 (1) Both the Statements are true. 

 (2) Both the Statements are false. 

 (3) Statement – I is true while Statement – II is false. 

 (4) Statement – I is false while Statement – II is true. 

 

20. Which of the following is a part of the central processing unit of a computer ? 

 (1) Hard Disk (2) RAM 

 (3) Arithmetic Logic Unit (4) Video Display Unit 

 

21. According to Henry Fayol, which of the following qualities are required in a manager ? 

 (1) Physical, mental, moral, educational, technical and experience 

 (2) Physical, mental, moral, administrative, technical and experience  

 (3) Physical, mental, moral, conceptual, technical and experience  

 (4) Physical, mental, moral, conceptual, technical and commercial 
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16. �� ����?������ ����)�
�������� ��)��������
�������/���
����G 
�,�*4"�����"�������02�
�4�����"����?��"��� ����/������
�,�=����� 
����

�� 

 (1) ����
�� ����
����� (2) �G 
���� ����
����� 
 (3) ����"�������
����� (4) �������������
����� 
 

17. ��4?���– I � ��
�*����� ����%����4?���– II � ��
�*���� ������
��������� ��/�)����"���
�����
��������� ��4 2�� ��?������� ��/�)�: 
      �������– I       �������– II 

i. !��#���
�� �
��'�� a. *������!�����!��
��������� ��������� ������������ �������������� ������� 
ii. ��
����  b. �� ����������0��?����
��������������������"����������� �������������� ������ 
iii. 
"��
�� �
��'�� c. )� ������"#���� �
�'���
�4����� ��R�����
������ 
iv. 
���'��� � d. ��
��� ���
�4
�
������"����"�����������������6�J��� ��R�����
������ 

 �� � : 

  a b c d 

 (1) i iii ii iv  

 (2) i iv iii ii 

 (3) iii i iv ii 

 (4) iii ii i iv 

 

18. ���
���������G �� ��µ ± 1.96 σ ���
���
����������������9��	���� ���9��	��� ��
������
� 
 (1) 0.95 (2) 0.68 

 (3) 0.50 (4) 0.99 

 

19. � ����� – I : ���S�?T� �: �������?��������� ����������'��������*������ ���'��"� ��"���4����!��
"�
�������
�����)��
�M� ��*M���: ����
��
�!����� �
������� �����"��� ����"���9��
�4����� ���������*����3�4���/������/������
���� 

 � �����– II : ��
������'��!��#���� �
�4����� ����"�����������"�
��������� ����
����������������	��
������
���� 
 �� � :  

 (1) *�������� %������
��
���� 
 (2) *�������� %����!������
���� 
 (3) � %����– I ��
��
�,�/����� �� %����– II �!������
���� 
 (4) � %����– I !������
�,�/����� �� %����– II ��
��
���� 
 

20. ���
������(����
�������� ����������� ���42"��� ��� 8���������G ������ ����� ��3��!��
��? 

 (1) 
�F���F�� � (2) "�
� 
 (3) �%��
���2� ����.�/�� ���4���2 (4) ����F������F��������4���2��
 

21. 
���"��> �.������� ��������"�������'�� �
������
������(����
�������� ���������!��#�������9����
��? 

 (1) ���"��"� ,�
�������� ,�������� ,�����9�� ,���� ���� �����"�����3��� 
 (2) ���"��"� ,�
�������� ,�������� ,������������� ,���� ���� �����"�����3���� 
 (3) ���"��"� ,�
�������� ,�������� ,����� �������
�� ,���� ���� �����"�����3���� 
 (4) ���"��"� ,�
�������� ,�������� ,����� �������
�� ,���� ���� �����"�����#��/���  
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22. Which of the following organises the activities of a business around geographical, market 

or product groups ? 

 (1) Functional organisational structure  (2) Divisional organisational structure 

 (3) Project organisational structure (4) Matrix organisational structure 

 

23. Match List – I and List – II on the basis of Graicuna’s formulae of relationships, if the 

number of subordinates is ‘n’ : 

List – I       List – II 

a. Direct single relationship i. n 

b. Cross relationships ii. n(n – 1) 

c. Direct Group relationships iii. n(2n – 1 – 1) 

d. Total relationships 
iv. n 

�
�
�

�
�
�2n

2
 + n – 1  

 Codes : 

  a b c d 

 (1) i iv ii iii  

 (2) i ii iii iv 

 (3) i iv iii ii 

 (4) i iii ii iv 

 

24. Which of the following is not a content theory of motivation ? 

 (a) Maslow’s Need Hierarchy Theory 

 (b) Herzberg’s Two Factor Theory 

 (c) Vroom’s Vector Valence Theory 

 (d) Alderfer’s ERG Theory 

 (1) (d) only (2) (c) and (d) 

 (3) (c) only (4) (b) and (d) 

 

25. Which one of the following regarding the structural barriers to communication is correct ? 

 (1) Filtering and Inattention (2) Credibility and Attitude 

 (3) Emotions and Time pressure (4) Status and Specialisation  

 

26. Though often criticized, the selling concept is particularly appropriate and effective with 

which of the following types of products ? 

 (1) Convenience  (2) Shopping 

 (3) Unsought  (4) Speciality 

 

27. Your firm is attempting to divide up the total market to determine the best segments it can 

serve. Which is the correct order of doing so ? 

 (1) market segmentation, target marketing, market positioning 

 (2) target marketing, market positioning, market segmentation 

 (3) market positioning, market segmentation, target marketing 

 (4) mass marketing, demographic segmentation, psychographic segmentation 
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22. ���
������(����
�������� �����3���!������� ����/��"�����=����*���
�4
��� ������������� �"�����"��� � ��G ���� ��������� ����������/����
� "����
��? 

 (1) ���� ������
�� ����!�V����
�� �E�K?�� (2) ���3��!��������!�V����
�� �E�K?�� 
 (3) ���"����/��������!�V����
�� �E�K?�� (4) 
���27&������!�V����
�� �E�K?�� 
 
23. ���*��'�����%����� �����(����‘n’ 
��,������!����� ������ �������'����4	���� ���'��"���"���4?���– I ���"���4?���– II � ������
��������

� ��/�)�< 
� �������– I        �������– II 

a. ������9��)� ���������'�� i. n 

b. �������������'� ii. n(n – 1) 

c. ������9����
�4
�������'�� iii. n(2n – 1 – 1) 

d. �� ���������'�� 
iv. n 

�
�
�

�
�
�2n

2
 + n – 1  

 �� � : 

  a b c d 
 (1) i iv ii iii  
 (2) i ii iii iv 
 (3) i iv iii ii 
 (4) i iii ii iv 
 
24. ���
������(����
�������� �����������3�����"#������0���� ����+�������
-�
��? 

 (a) 
��������� ���������� �����������������+����� 
 (b) 
/�H���!���� ��*���� �"� ����+����� 
 (c) �: 
��� �����&2"��������/����9�
��������+����� 
 (d) )�F"> "�� ����5��"5/��5����+����� 
 (1) �� ���� (d) (2) (c) ���" (d) 

 (3) �� ���� (c) (4) (b) ���" (d) 

 
25. ���
������(����
�������� ���������)� ��������0�#���� ����"?�����
�� ������'������� ���
���'��
�����
��
��? 

 (1) �> �2W"!�����"�=���9�� (2) ��������������������"���3���6�J�� 
 (3) ������!�����"���
����� ��*������ (4) �����%��������"�������0�R����� 
 

26. 
������� ������������ ��������<�������?������ ��/������
���> "�3�������G ������ ����������
������(����
�������� ���������=����*����� �
���%��������0��: ���������
���?�������"����3������
������
��? 

 (1) ������'�� (2) (�"�**�"� 
 (3) ������?T�� (4) ������0�R����� 
 
27. ����� ��> 
��������XJ�
��(��F�� ������'����"���� "������ ����)���
�!������/��"�� ������3���/����� "����� ������������ "�"
��
�,�)�����

� "������ ����)����
���
�������� ����������G 
��
������
��? 

 (1) ���/��"�(��F�� "#�,���9��������#���,����/��"�� ����%����� 
 (2) ��9��������#���,����/��"�� ����%����,����/��"�(��F�� "#� 
 (3) ���/��"�� ����%����,����/��"�(��F�� "#�,���9��������#��� 
 (4) /���������#���,�/��������(��� ��(��F�� "#�,�
������?�	�#��(��F�� "#� 
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28. Which of the following marketing strategies is/are based on the principle of stimulus 
generalisation ? 

 (a) Product line extension 

 (b) Family branding 

 (c) Licensing 

 (d) Counterfeiting 

 Codes : 

 (1) (a) and (b) 

 (2) (b) and (c) 

 (3) (a), (b) and (c) 

 (4) (a), (b), (c) and (d) 

 

29. The tendency for persuasive communication to lose the impact of source credibility over 

time, is known as  

 (1) Hawthorne Effect (2) Sleeper Effect 

 (3) Pull back Effect (4) Source Effect 

 

30. Match the following : 

List – I       List – II 

a. Brand Portfolio i. A set of all brands and brand lines a firm 

offers for sale in a particular category or 

market segment. 

b. Brand Equity ii. An estimate of financial value of the 

brand. 

c. Brand Community iii. Customers and employees whose 

identification and activities focus around 

the brand. 

d. Brand Valuation iv. The added value endowed to products and 

services. 

 Codes : 

  a b c d 

 (1) ii iv iii i  

 (2) i ii iii iv 

 (3) i iv iii ii 

 (4) iv iii ii i 

 

31. Which of the following formulae is used to calculate the degree of combined leverage ? 

 (1) 
% change in EBT

% change in EBIT
 (2) 

% change in EPS

% change in Sales
 

 (3) 
% change in EBIT

% change in sales
 (4) None of the above 
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28. ���
������(����
�������� ��������������#��������&���=*M*���������
������� "#���� ����+�������"���'���"���
��? 

 (a) =����*�����&���� ���������"� 

 (b) ���"���"���G��WF!�� 

 (c) �������W��!� 

 (d) /�������/�� 

 �� ��: 

 (1) (a) ���" (b) 

 (2) (b) ���" (c) 

 (3) (a), (b) ���" (c) 

 (4) (a), (b), (c) ���" (d) 

 

29. ���������
������� �Y������� ��������������������� ����3������ ���(��������� ����)����������������*� �� �������6�J��� ���� 
����
�� 

 (1) 
�%���������������� (2) ���������������� 

 (3) 
��� "����� ����������� (4) Y��������������� 

 

30. ���
������(����� ������
��������� ��/�)�: 

�������– I       �������– II 

a. ��G��F�����2�> ��������� i. ��3��� ��G��F������"� ��G��F���������� � �� ���2,� �/���� �� �� ����
P��#����������/��"�(��F�������0��
�������G ���� ����)�����������
�*����/������
���� 

b. ��G��F���&��2�� ii. ��G��F��� ����J�����
�4����� ������
����� 

c. ��G��F���
��*���� iii. !���
� � ���"� � 
��?��"�� �/���� �� ��
?����� ���"�
��G ���� ��������G��F��� �������������� �8���
������
���� 

d. ��G��F�
�4������ ��� iv. =����*������"�����������������
��������$'����
�4���� 

 �� ��: 

  a b c d 

 (1) ii iv iii i  

 (2) i ii iii iv 

 (3) i iv iii ii 

 (4) iv iii ii i 

 

31. ������&��������"�/��� ��
��	���� ��!�#������� ����)����
������(������4	����
��������� ��� ��=������!���� ����/������
��? 

 (1) 
��5���52�5�
�����������������"�������

�5���5����52�5�
�����������������"������� (2) 
�5���5)��5�
�����������������"�������
�����G ���
�����������������"�������  

 (3) 
�5���5����52�5�
�����������������"�������
����G ���
�����������������"�������  (4) =������&���
�������� �������
-� 
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32. Statement – I : Both Net Income (NI) approach and Modigliani-Miller (MM) approach 
assume that cost of capital is independent of the degree of financial 
leverage. 

 Statement – II : A capital structure which minimises cost of capital and maximises 

EPS, is an optimum capital structure. 

 Codes :  

 (1) Statement – I and Statement – II both are correct.  

 (2) Statement – I and Statement – II both are wrong. 

 (3) Statement – I is correct and Statement – II is wrong. 

 (4) Statement – I is wrong and Statement – II is correct. 

 

33. Which of the following is the formula of Gordon Model of Dividend policy ? 

 (1) V = 
1

1 + K
 (D1 + P1) (2) V = 

E(1 – b)

K – br
 

 (3) V = 

D + 
r

K
 (E – D)

K
 (4) V = 

E(1 – b)

K
 

 

34. Which of the following formula is used for calculating the cost of preference share capital ? 

 (1) 
Preference Dividend

Market Price of Preference Share
 × 100 

 (2) 
Preference Dividend

Net proceeds from prefrence share
 × 100 

 (3) 
Net proceeds from preference share

Preference share capital
 × 100 

 (4) 
�
�
�

�
�
�Preference Dividend

Net Proceeds from Pref. Share
 × 100  + G  

 

35. Select the recognised methods of inventory control from the following : 

 (a) EOQ Analysis 

 (b) ABC Analysis 

 (c) HML Analysis 

 (d) SDA Analysis 

 (e) FSN Analysis 

 Codes : 

 (1) (a), (b), (c) 

 (2) (a), (b), (c), (e) 

 (3) (a), (b), (c), (d) 

 (4) (a), (b), (c), (d), (e) 
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32. ����� �����– I : ���+������Z)��5����5[���3�!�
��)����
����F�!����������
���"���3�!�
��*�������
��������
���� ���4K/���
� �����!�������J����������"�/��� ��
��	�������������	��
���� 

 ����� �����– II : )� � ��4K/��� E�K?��� /���� ��4K/��� � �� ���!���� � ��� ���4����
�� � "���� 
�� )���� �5���5)��5� � ��� ��'�� ��
��
� "����
�,���
������4 ����
����4K/���E�K?���
������
���� 

 � �� �:  

 (1) ��3�� %����– I )������3�� %����– II *���������
��
���� 

 (2) ��3�� %����– I )������3�� %����– II *�������!������
���� 

 (3) ��3�� %����– I ��
��
��)������3�� %����– II !������
���� 

 (4) ��3�� %����– I !������
��)������3�� %����– II ��
��
���� 

 

33. ���3�������������� �����
������(����
�������!���F����
��.F���� ��� �����������4	��
��? 

 (1) V = 
1

1 + K
 (D1 + P1) (2) V = 

E(1 – b)

K – br
 

 (3) V = 

D + 
r

K
 (E – D)

K
 (4) V = 

E(1 – b)

K
 

 

34. ��4�����'�� �"��������4K/���� �����!����� ��!�#�����
��������
������(����
��������� �����4	��� ��=������!���� ����/������
��? 

 (1) 
��4�����'�� �"����3�����

��4�����'�� �"������� �����/��"�
�4��� × 100 

 (2) 
��4�����'�� �"����3�����

��4�����'�� �"���������������+������������K × 100 

 (3) 
��4�����'�� �"���������������+������������K

��4�����'�� �"��������4K/��  × 100 

 (4) 
�
�
�

�
�
���4�����'�� �"����3�����

��4�����'�� �"���������������+������������K × 100  + G  

 

35. ���
������(����
��������� �'��������	�#��� ��
������"���������� ��?������� ��/�)�: 

 (a) ��5���5&��45��������0�#� 

 (b) )5���5���5��������0�#� 

 (c) )?�5)
�5)��5��������0�#� 

 (d) )��5F�5)5��������0�#� 

 (e) )> 5)��5)��5��������0�#� 

 � �� �: 

 (1) (a), (b), (c) 

 (2) (a), (b), (c), (e) 

 (3) (a), (b), (c), (d) 

 (4) (a), (b), (c), (d), (e) 

www.examrace.com



Paper-II 16  J-08-16 

36. Match the items of List – I with the items of List – II : 

List – I       List – II 

a. Line authority i. Authority which gives the manager the right to 
advise other managers or employees. 

b. Staff authority ii. The authority exerted by manager by virtue of 
other’s knowledge that he has access to top 
management. 

c. Implied authority iii. The authority exerted by directing the activities 
of the people in his own department. 

d. Functional authority iv. The authority exerted by a manager as     
co-ordinator of activities.  

 Codes : 

  a b c d 

 (1) iii ii i iv  

 (2) iii i ii iv 

 (3) i ii iii iv 

 (4) ii iv i iii 

 

37. Which of the following are not the disadvantages of Direct-mail as a source of recruitment ? 

 (i) Expensive 

 (ii) Difficult to gauge the impact 

 (iii) Long lead time 

 (iv) Limited information regarding the jobs   

 Codes : 

 (1) (i) & (ii) 

 (2) (i), (ii) & (iii) 

 (3) (iii) & (iv) 

 (4) (ii) &  (iv) 

 

38. Examine the following statements and choose the correct code : 

 Statement – I : Motivation is expensive and above all difficult. 

 Statement – II : Things that are the most motivating to employees tend to be 
relatively easy to do and less costly. 

 Statement – III : Personally recognizing the accomplishments of employees can be 
easy.  

 Codes :  

 (1) All the three statements are correct. 

 (2) Statements – II and III only are correct.  

 (3) Statements – I and III only are correct.  

 (4) Statement – I only is correct.  
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36. ��4?���– I � ��
�*����� ����%����4?���– II � ��
�*���� ������
��������� ��/�)�: 
�������– I       �������– II 

a. "�(��������3������ i. ��
����3������/������ ����������'�� �� ���*4��"��������'�� �������� 
��?���"�����
� ��������
�*������ ����'�� �"�*�����
���� 

b. �2�.> ����3������ ii. ������'�� �I�"�� ��������!���� ��
� ���3������ /���� *4��"��� �� � ���� R����� ��"�
��'���"���
���� �=��� ����
�K?��=??��������'����� �
��� 

c. ����$���
������3������ iii. ��
� ���3������ �/������������ ���3��!���� � ����!���� �� � ��G ���� �������� � ���
���*X������� "����
�)����&����� ����/������
���� 

d. ���� ������
�� ����3������ iv. ��
����3�������/���� ���������!���� ����������'�� �I�"����G ���� ���������� �
��
������� ������� �: ���
����� ����/������
���� 

 �� ��: 

  a b c d 

 (1) iii ii i iv  

 (2) iii i ii iv 

 (3) i ii iii iv 

 (4) ii iv i iii 

 

37. ���
������(����
���� ���������3���O��� �Y�������� �: ���
���������9��
������ �����3����
-�
��? 

 (i) (�?�O���� 
 (ii) ���3������� �
�������
���� �V������ 
 (iii) �����������"������
���� 
 (iv) � ������� �������'��
�������
������4?����� 
 �� ��: 
 (1) (i) ���"�(ii) 
 (2) (i), (ii) ���" (iii) 
 (3) (iii) ���" (iv) 

 (4) (ii) ���" (iv) 

 

38. ���
������(����� %������� ��/��K?��� ��/�)����"���
���4 2�� ��?������� ��/�)�: 
 � �����– I : ��3�����"#���(�?�O����
�����"��� ����
����� "�� �V���
���� 
 � �����– II : )�����?��/�,�/����� 
��?���"������ �����3������"���� "������ � ���)�����9���6 �����������)��
�M�� 
��

(�?�O����
������
���� 
 � �����– III : � 
��?��"�����0������� �������&��!����: ���������
?����������������
������ ����
���� 
 �� ��:  
 (1) ��3������������ %������
��
��� 
 (2) �� ������ %����II ���" III ��
��
���� 
 (3) �� ������ %����I ���"�III ��
��
���� 
 (4) �� ������ %����I ��
��
���� 
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39. Match the items of List – I with the items of List – II : 

List – I       List – II 

a. Flexitime i. Employees work for fewer days in the week, but 
work for longer hours. 

b. Telecommuting ii. Two or more employees share a full time job. 

c. Compressed work week iii. Employees work from house using their computers. 

d. Job sharing iv. Employees decide their own start and stop time 

 Codes : 

  a b c d 

 (1) i iii iv ii  

 (2) ii iii i iv 

 (3) iv iii i ii 

 (4) i iii ii iv 

 

40. Examine the following statements and choose the correct code : 

 Statement – I : The Payment of Wages Act is meant to regulate the payment of 
wages to employees from certain industries. 

 Statement – II : The Minimum Wages Act aims at making provision for statutory 
fixation of minimum rates of wages in certain employment. 

 Statement – III : The main purpose of the Employment Exchange Act is to provide 
practical training to technically qualified persons. 

 Codes :  

 (1) Statements I and II only are correct. 

 (2) All the three Statements are correct.     

 (3) Statements II and III only are correct.  

 (4) Only Statement II is correct. 
 

41. Match the items of List – I with List – II : 

List – I       List – II 

a. Foreign Bank i. Catholic Syrian Bank 

b. Public Sector Bank ii. Sonali Bank 

c. Private Sector Bank iii. IDBI Bank 

d. Regional Rural Bank iv. Pallavan Grama Bank 

 Codes : 

  a b c d 

 (1) i iii ii iv 

 (2) ii iii i iv 

 (3) i iv iii ii 

 (4) i ii iii iv 
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39. ��4?���– I � ��
�*���� �����4?���– II � ��
�*����� ����%�����
��������� ��/�)�: 
�������– I       �������– II 

a. ��?��������
���� i. � 
��?��"��)� �������
�
���� 
���*���� ������ "����
�,������ ������������
����
��� �� ������ "����
���� 

b. 2����� 
���W2!�� ii. *���������'�� �� 
��?��"����4#���� ����� �� �����
�����
3���!������ "����
���� 
c. �������FH���� �����������
� iii. � 
��?��"����������� ���42"���� ��=������!��� "����
�)�1�"������ ������ "����
���� 
d. � ������ ����
3���!����� iv. � 
��?��"�����������"��3�� ����"���
���������
����������������� "����
���� 

 �� � : 

  a b c d 

 (1) i iii iv ii  

 (2) ii iii i iv 

 (3) iv iii i ii 

 (4) i iii ii iv 

 

40. ���
������(����� %������� ��/��K?��� ��/�)����"���
���4 2�� ��?������� ��/�)�: 
 � �����– I : �����������*������'������
��� ����������� T�= ��!��������� 
��?���"������ ������*������������� ��� ���������
����

� "����
���� 
 � �����– II : ���4����
������������'������
��� ��=*M*������� T�"��/�!��"���
������4����
����������*"����� ���������'�� ����'���"#��

� ��������'������ "����
���� 
 � �����– III : �������/���� � ���������� ��'������
�� � �� 
��(��� =*M*����� ��� ���� �� : ��� ���� �������9���� ����&������� � ���

������
��"� �������9�#��*�����
���� 
 �� ��:  
 (1) �� ������ %����I ���"�II ��
��
���� 
 (2) ��3������������ %������
��
���� 
 (3) �� ������ %����II ���"�III ��
��
���� 
 (4) �� ������ %����II ��
��
���� 
 

41. ��4?���– I � ��
�*���� ���
���������4?���– II �� ����%��� ��/�)�: 
�������– I       �������– II 

a. ���*��������� � i. �� %������� �����"��������� � 
b. ������/����� �9��	������ � ii. ��������������� � 
c. ���/���9��	������ � iii. ����5F�5���5����5����� � 
d. 9��	�����!���
��#������ � iv. �������
�M�!���
������� � 

 �� ��: 

  a b c d 

 (1) i iii ii iv 

 (2) ii iii i iv 

 (3) i iv iii ii 

 (4) i ii iii iv 
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42. E-Banking is also referred to as 
 (a) Web-based Banking 
 (b) Branchless Banking 
 (c) Virtual Banking 
 (d) Internet Banking 
 (e) Western Banking 
 (f) Neo-classical Banking 

 Codes : 

 (1) (a), (b), (c) and (d) (2) (a), (b), (c) and (e) 
 (3) (a), (c), (d) and (f) (4) (a), (c), (d) and (e) 
 
43. SBI has applied to open branches in Pakistan in recent agreement between India and 

Pakistan at  
 (1) Islamabad and Karachi (2) Lahore and Karachi 
 (3) Rawalpindi and Sindh (4) Lahore and Islamabad 
 

44. Statement – I : A loss Asset (NPA) is one where loss has been identified by the 
internal or external auditors. 

 Statement – II : A loss Assets (NPA) is uncertain but it must be identified as a loss. 

 Codes :  

 (1) Statement I is correct but II is incorrect. 
 (2) Statement II is correct but I is incorrect. 
 (3) Both Statements I and II are correct. 
 (4) Both Statements I and II are incorrect. 
 

45. Match the items of List – I with List – II with regard to the functions of NABARD : 

List – I       List – II 
a. Financial Functions i. Core Banking solution to co-operative banks 
b. Developmental functions ii. Credit monitoring arrangements 
c. Supervisory functions iii. Farm sector refinance through RRBs 

 Codes : 

  a b c  

 (1) iii ii i 

 (2) iii i ii 

 (3) ii i iii 

 (4) i iii ii 
 

46. Statement – I : A country tends to specialise in the production of those goods for 
which it has got relative or comparative advantage. 

 Statement – II : The theory of comparative cost is simply an application of the 
principle of division of labour. 

 Codes :  

 (1) Statement I is correct but II is incorrect. 
 (2) Statement II is correct but I is incorrect. 
 (3) Both Statements I and II are incorrect. 
 (4) Both Statements I and II are correct. 
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42. ������W� !��� �����
�3���� 
��/������
�� 
 (a) ��������'���"������W� !� (b) ���(���"�
������W� !� 
 (c) ��3���������W� !� (d) ��2"���2����W� !� 
 (e) ����?�
������W� !� (f) ������������0V������W� !� 
 �� ��: 
 (1) (a), (b), (c) )����(d) (2) (a), (b), (c) )����(e) 

 (3) (a), (c), (d) )����(f) (4) (a), (c), (d) )����(e) 
 

43. 
����
��
���
�)�3��"�������� ���������
�L��������� �����!�����)��5���5����5� ���� ����� �������
���� 
�K����(��)K�(����������� � ���)�
�����*����� ����
��?  

 (1) �����
�����*����"�� "�?�� (2) ���
��"����"�� "�?�� 
 (3) "�����W��F�����"�W��'� (4) ���
��"����"������
�����*� 
 

44. � �����– I : )� � F4���� 
���� ��
���J�� Z)��5���5)5[� ��
� ��
���J�� 
�� �/����� � ���� ������ � ��� ������"� � �%����� ���\�
���� 9�� �I�"���?���
���� "��������!�����
���� 

 � �����– II : )� �F4���� 
���� ��
���J�� Z)��5���5)5[�������?���� 
�� ��"�����=���� 
������� � : ��� 
���������� �?���
���� "�
�������?���
)��� 

 �� ��:  
 (1) � %����I ��
��
����"������ %����II ��
����
-�
���� 
 (2) � %����II ��
��
����"������ %����I !������
���� 
 (3) *�������
��� %����I )����II ��
��
���� 
 (4) *�������
��� %����I )����II !������
���� 
 

45. ������F���� �� ����]�� ���'������
���"(�����
�)���4?���– I � ��
�*���� �����4?���– II �� ����%�����
��������� ��/�)�: 
�������– I       �������– II 

a. ���J������ ����� i. ��
� �"������ ���� ��� ��"����W� !��
��� 
b. ���� ����������'���� ����� ii. ���(����������9�#��������%��� 
c. ��������9���� ����� iii. ��"5��"5���5����� ����� �
��'��
�������6 �0��9��	�������<���J�����0�#� 

 �� ��: 
  a b c  

 (1) iii ii i 

 (2) iii i ii 

 (3) ii i iii 

 (4) i iii ii 
 

46. ����� ����� – I : )� �*����=��������������� �=����*���
���������02������������� "����� ���=�
��(��
������
���/���
�����
�
�������9�� ����"����������
�� ����3��"(�����
����� 

 ����� ����� – II : ���������
�� ����!�������+�����P�
�����3��/�������+������ ���� ����������������!��
���� 
 �� ��:  
 (1) ��3�� %����I ��
��
����"�������3�� %��� II ��
����
-�
���� 
 (2) ��3�� %����II ��
��
����"�������3�� %��� I !������
���� 
 (3) *���������3�� %����I ���"�II !������
���� 
 (4) *���������3�� %����I ���"�II ��
��
���� 
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47. Match the items of List – I with List – II with regard to balance of Payment position of a country : 
List – I       List – II 

a. Cyclical Disequilibrium i. Change in demand or supply of exports 
alters a previously existing equilibrium 

b. Secular Disequilibrium ii. Fluctuations in the economic activities 
c. Technological Disequilibrium iii. Deep-seated changes in an economy 
d. Structural Disequilibrium iv. Inventions or innovations of new goods or 

new techniques of production 
 Codes : 

  a b c d  
 (1) i ii iv iii 
 (2) i iii iv ii 
 (3) ii iii iv i 
 (4) iii ii iv i 
 
48. Which among the followings are not guiding fundamental principles of World Trade 

Organization ? 
 (a) Non-discrimination (b) Free-trade 
 (c) Social-Welfare (d) Fair competition 
 (e) Market Access Commitment (f) Human Rights 
 (g) Multilateral Trading System 
 Codes : 
 (1) (a), (b) and (c) (2) (c), (e) and (f) 
 (3) (c), (f) and (g) (4) (c) and (f) 
 
49. Consider the following statements with reference to International Development 

Association (IDA) : 
 (a) IDA is the world’s largest source of concessional financial assistance for the poorest 

countries. 
 (b) IDA is a leader among development institutions. 
 (c) IDA advances loans to industries in exceptional cases. 
 Codes : 

 (1) (a) is correct but, (b) and (c) are incorrect 
 (2) (a) and (b) are correct but, (c) is incorrect. 
 (3) (a) and (c) are correct but, (b) is incorrect. 
 (4) (b) and (c) are correct but, (a) is incorrect. 
 
50. As per the Foreign Trade Policy 2015-2020, a five star export house should have ? 
 (1) Export performance (FOB/FOR) of US $ 500 million during current and previous 

two years. 
 (2) Export performance (FOB/FOR) of US $ 1000 million during current and previous 

two years. 
 (3) Export performance (FOB/FOR) of US $ 1500 million during current and previous 

two years. 
 (4) Export performance (FOB/FOR) of US $ 2000 million during current and previous 

two years. 
__________ 
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47. *����� ��3��!��������������������%������� �������'��
�����4?���– I � ��
�*���� �����4?���– II � ��
�*����� ����%�����
��������� ��/�)�: 
�������– I       �������– II 

a. ?��G ��������
��� i. ���������� � �� 
��K!�� �%����� ��4$��� 
��� ���"�������� ��
���� ���� ��� 
�����
���
���� �����*������
���� 

b. *�1��� �����������
��� ii. ��$%�� ���G ���� ��������
���=??����?��� 
c. ����� ���!�� �����
��� iii. �%��������%���
���!�
������"�������� 
d. ���"?�����
�� �����
��� iv. =����*����� � ������ 
����� ���� ����� ��� ���� �� �������0� �"� ���� �����

����������� 
 �� ��: 
  a b c d  
 (1) i ii iv iii 
 (2) i iii iv ii 
 (3) ii iii iv i 
 (4) iii ii iv i 
 

48. ���
������(����
�������� �����������������������"����!�V����� �
��!��*��O�
�4������+�������
-�
��? 

 (a) ����3��*� (b) 
��&����������"� 
 (c) ��
��/��� ����#� (d) =�?�������������'��� 
 (e) ���/��"���
�K?����������+���� (f) 
���������'�� �"� 
 (g) ��
���9������������"����#������ 
 �� ��: 
 (1) (a), (b) ���"�(c) (2) (c), (e) ���"�(f) 
 (3) (c), (f) ���"�(g) (4) (c) ���"�(f) 
 

49. ��2"�����������F�������
��2�)�������)�����Z����5F�5)5[��� ����*3���
������
������(����� %��������"����?��"�� ��/�)� : 
 (a) ����5F�5)5��������'�����*�������� ����)��"������������J�������
�������� ���������
�������������FH��Y������
���� 
 (b) ����5F�5)5����� ����������'�������%������
����!��#���
���� 
 (c) ����5F�5)5�������0��
��
������
���= ��!����� ���^ #��*�����
���� 
 �� ��: 
 (1) (a) ��
��
�,������ ���(b) ���"�(c) !������
���� 
 (2) (a) ���"�(b) ��
��
�,������ ���(c) !������
���� 
 (3) (a) ���"�(c) ��
��
�,������ ���(b) !������
���� 
 (4) (b) ���"�(c) ��
��
�,������ �� (a) !������
���� 
 

50. ���*�����������"��������2015-2020��� ��������"�)� �> ������2�"�����������!�6
��� ����)�
������?���
)�< 
 (1) ?����4� ���"� ���T���� *��� ��0��� �� � *��"���� 500� �
��������� �
�"�� �� F�.��"� � �� ���������� � ��������0���*���

Z)> 5���5���5_)> 5���5��"[� 
 (2) ?����4� ���"� ���T���� *��� ��0��� �� � *��"���� 1000� �
��������� �
�"�� �� F�.��"� � �� ���������� � ��������0���*���

Z)> 5���5���5_)> 5���5��"5[� 
 (3) ?����4� ���"� ���T���� *��� ��0��� �� � *��"���� 1500� �
��������� �
�"�� �� F�.��"� � �� ���������� � ��������0���*���

Z)> 5���5���5_)> 5���5��"5[� 
 (4) ?����4� ���"� ���T���� *��� ��0��� �� � *��"���� 2000� �
��������� �
�"�� �� F�.��"� � �� ���������� � ��������0���*���

Z)> 5���5���5_)> 5���5��"5[� 
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